Reg 127447



Date	10/18/2021
Estimate #	
	George Severe
Estimate	george@defendersupply.c
Ву	903-771-0845

Bill To	
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson
Customer Phone	512-352-4181
Customer E-mail	bolson@wilco.org

Description	Location	Qty	Price	Total
22 Chevrolet Tahoe 9C1 RWD Police Pursuit Vehicle with EcoTec3 -liter, 10-Speed Auto Trans with Heavy Duty Cooler, Heavy Duty Clutch be Locking Differential, Dual Batteries with 760-amp Auxiliary Battery, in-output Alternator, 20-inch Steel Wheels, Brembo Front Calipers with inch rotors, Keyless Entry & Push-to-Start Ignition, OnStar with Bluetcoth nnectivity, Additional Key FOBs & Radio Suppression. (No Spotlight) rchased Through Holiday Chevrolet on Texas Smart Buy Cooperative intract # 070-A1 Series XS135PUR - Commodity Code 0710540306 liday Chevrolet 19 Highway 82 West itesboro, Tx 76273 Itions: U Midnight Blue Metallic 6 Recovery Hooks \$50.00 3 Front License Plate Bracket V Remote Start \$300.00 F Additional FOBs \$75.00 Stomer PO # (3) Patrol Units @ \$62,000.00 X 3 = 160,000.00 Imment to be made to Holiday Chevrolet on Texas Contract # 070-A1 ies XS135PUR #'s I Order #'s ZZDGX4, ZZDGX5, ZZDGX6 inicle titles should be in the name & address of: liamson County 1 Additors Office		1	33,737.00	33,737.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total

Signature Bill Gravell (Nov9, 2021 15:00 CST)



Date	10/18/2021	
Estimate #		
	George Severe	
Estimate	george@defendersupply.c	
Ву	903-771-0845	



Bill To	Helphill by
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson
Customer Phone	512-352-4181
Customer E-mail	bolson@wilco.org

2022 Chevro	let Tahoe 9C1	١
-------------	---------------	---

Vehicle Color - Blue

Description	Location	Qty	Price	Total
Williamson Co TX PCT. 4 Constable - WO# - Work Order				
2 Year Texas State Inspection Certificate		1	7.00	7.00
Emergency Equipment is Purchased Through Defender Supply using The Tarrant County Cooperative Contract # 2019-181				
Defender Supply TAHOE Console Package - Contoured Police Console With Dual Cup Holder, Arm Rest, 2 Mic Clips, Base Plate.				786.00
Includes Installation.				
Havis Docking Station with Dual Pass-Through Antenna connection for Panasonic Toughbook 33, 2-in-1 Laptop with Power Supply # DS-PAN-1112-2		1	1,099.00	1,099.00
Defender Supply Computer Mount; Console. Includes Installation.		1	345.00	345.00
Federal Signal 3' Round 6 LED Compartment / Dome Light that is Switchable between Red or White - (1) Mounted in Cabin Ceiling Mount & (2) on Rear Tailgate with 3-Way Switches		3	45.00	135.00
Defender Supply Two-Way (800) Radio Antenna and Coaxial Cable. Includes Installation. Roof Mount		1	155.00	155.00
Federal Signal 51" Valor Light Bar Dual Color, Low-Profile LED, Non-Linear "V-shape" Off-Axis Lighting, Solaris® LED Reflector Technology, SpectraLux® Multi-Color LED technology, Reduced Wind Noise, FSJoin technology & Low Hook Mount Height		1	3,400.00	3,400.00
Federal Signal Hook Kit for 51" and 53" Light Bar- 2021 Tahoe, Silverado		1	0.00	0.00
Federal Signal Siren/Light Controller with 17-Button Controller, 100/200 W, OBDII with Integration Capability, Integrated Rumbler Capability &Integrated Dual-tone Capability		1	0.00	0.00
Federal Signal DynaMax 100W Speaker Federal Signal ES100 Speaker Bracket, Universal Bail Federal Signal - 25 foot OBDII Interface Cable		1 1 1	0.00 0.00 0.00	0.00 0.00 0.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.





Date	10/18/2021
Estimate #	
	George Severe
Estimate	george@defendersupply.c
Ву	903-771-0845

Bill To	BENEFIT BUT
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson
Customer Phone	512-352-4181
Customer E-mail	bolson@wilco.org

0000	AL		hoe 9C1
	LDOVPO	01 10	000 UI 1
2022	CHEVIO	iet ia	

Vehicle Color - Blue

Description	Location	Qty	Price	Total
Federal Signal 24 Channel Expansion Module for Pathfinder Siren/Light Controller		1	0.00	0.00
Federal Signal Pair of Rumbler® Low-Frequency Siren for Police Vehicles Delivering up to 10 dB more Sound Pressure		1	325.00	325.00
Federal Signal Rumbler Brackets, 2021 Tahoe		1	0.00	0.00
Federal Signal Push Bumper, 2021 Tahoe		1	391.63	391.63
Federal Signal - PBX Series Push Bumper Four-Light top-channel for Chevy Tahoe 9C1 & Ford F-150 bumpers, use with MPS600U or MPS620U lights		1	24.00	24.00
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White Mounted in Front Bumper Tube - Whites to do Take Downs When Activated - Red/Blue/Red/Blue		2	82.50	165.00
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted in Front Bumper Tube - Whites to do Take Downs When Activated - Red/Blue/Red/Blue		2	82.50	165.00
Federal Signal Micropulse 620 Ultra - 12 LED Lighthead Dual Color Red/Blue - Mounted on Sides of Push Bumper		2	81.00	162.00
Federal Signal Micropulse 620 Ultra Surface Mount - 18LED Lighthead Tri-Color Red/White/Blue on Front Side Mirrors		4	132.495	529.98
Federal Signal Wedge Kit Pair for MPS lights Mounted Near Running Board Area or for FPIU Lights on Front Side Mirrors on 2021 Chevrolet Tahoe 9C1 or SSV		4	10.83	43.32
Federal Signal XStream Interior Mount Warning Light, Dual Head model with wire lead, Tri-Color-Blue/Red/White - Mounted in Rear Side Glass on Top of window – Programmed to do White Alley Lights when Activated		2	167.50	335.00
Federal Signal MicroPulse Ultra 6, Dual-Color Red/Blue, Surface Mount Lights - Mounted under Rear Spoiler		6	80.40	482.40
Federal Signal Rear Spoiler Bracket Kit for MPS600 or MPS600U Lights for the 2021+ Chevrolet Tahoe 9C1 & SSV		1	100.00	100.00
Federal Signal Hideaway Light in Red/White Split - Mounted in Reverse Lights		1	58.50	58.50

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.





Date	10/18/2021
Estimate #	
	George Severe
Estimate	george@defendersupply.c
Ву	903-771-0845

Williamson Co TX PCT. 4 Constable
412 Vance Street - Suite 3
Taylor, Texas 76574

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

Description	Location	Qty	Price	Total
Federal Signal Hideaway Light in Blue/White Split - Mounted in Reverse Lights		1	58.50	58.50
Federal Signal Universal Tail Light Flasher		1	59.95	59.95
Federal Signal - 24LED Lighthead Dual Color Red/Blue - Surface Mounted Horizontal right beside Rear License Plate		2	130.00	260.00
Federal Signal Micropulse 620 Ultra - 12 LED Lighthead Dual Color Red/Blue - Mounted on Bottom of Liftgate		2	87.50	175.00
Defender Supply TAHOE Prisoner Partition with Full Across Poly Window with Center Slider, Recessed Center and Lower Kick Panels. Includes Shipping and Installation.		1	645.50	645.50
Pro-Gard Space Saver Plus partition w/ center sliding window and Viper Shields. Includes Shipping and Installation.		1	3,182.97	3,182.97
Defender Supply Surface Mount Dual Weapon Universal Cuff Lock with 8 Second Timer, Switch, Defender Supply Gunlock Wire Harness. Includes installation.				453.00
Setina T-Rail Universal Lock, EoTech Bracket to Fit Oversize Locks to fit AR-15 optics		1	14.85	14.85
Defender Supply TAHOE Cargo Barrier with Mesh Window, Plastic Prisoner Seat with Center Pull Seat Belt System. Includes Shipping and Installation.		1	1,585.00	1,585.00
Defender Supply TAHOE Steel Window Guards . Includes Shipping and nstallation.		1	361.00	361.00
Defender Supply TAHOE Prisoner Door Panels. Includes Shipping and installation.		1	363.00	363.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.





Date	10/18/2021
Estimate #	
	George Severe
Estimate By	george@defendersupply.c
БУ	903-771-0845

Bill To	
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

Dome Lights Mounted Over Rear Driver and Passenger Side Seat with Switches on the C-pillar for the Coresponding Side. Includes Installation. Applied Concepts/Stalker DSR radar system - 'Ka' Band - Front & Rear Antenna Moving Radar Unit with Remote and Vehicle Specific Brackets. Includes Installation. Streamlight Strion SL-DS - 74614 1 130.00 13 11.25 110.00 13 19.25 110.00 13 110.00 13 19.25 110.00 13 19.25 110.00 13 19.25 110.00 13 19.25 110.00 13 19.25 110.00 13 19.25 110.00 13 110.00 13 110.00 13 110	Description	Location	Qty	Price	Total
Antenna Moving Radar Unit with Remote and Vehicle Specific Brackets. Includes Installation. Streamlight Strion SL-DS – 74614 1 130.00 13 Installation of Above Emergency Equipment Plastic Plus Level 3 Single Drawer Poly Vault with FULL HEIGHT BACK WALL (Fits 2021 Tahoe) Plastic Plus 3rd drawer option with Southco locking latches - # PP-TAH-2021-3 RD-L1-5x36 - Est # 7945 Plastic Plus Shipping of Above Cargo Box Custom Reflective Vehicle Graphic Kit by Mike Glass with Defender Supply Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass Professional Installation of Graphics by Defender Supply & Mike Glass Window Tint - For Two Front Windows Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Misc. Shop Supplies 1 30.00 3 Misc. Shop Supplies	Dome Lights Mounted Over Rear Driver and Passenger Side Seat with		1	255.00	255.00
Installation of Above Emergency Equipment 1.25	Antenna Moving Radar Unit with Remote and Vehicle Specific Brackets.		1	3,140.00	3,140.00
Installation of Above Emergency Equipment 1.25 110.00 13	Streamlight Strion SL-DS – 74614		1	130.00	130.00
WALL (Fits 2021 Tahoe) Plastic Plus 3rd drawer option with Southco locking latches - # PP-TAH-2021-3 RD-L1-5x36 - Est # 7945 Plastic Plus Shipping of Above Cargo Box 1 295.00 29 Custom Reflective Vehicle Graphic Kit by Mike Glass with Defender Supply Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass Professional Installation of Graphics by Defender Supply & Mike Glass Window Tint - For Two Front Windows 1 79.95 7 Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies			1.25		137.50
PP-TAH-2021-3 RD-L1-5x36 - Est # 7945 Plastic Plus Shipping of Above Cargo Box Custom Reflective Vehicle Graphic Kit by Mike Glass with Defender Supply Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass Professional Installation of Graphics by Defender Supply & Mike Glass Window Tint - For Two Front Windows 1 79.95 7 Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies	WALL (Fits 2021 Tahoe)		1	1,995.00	1,995.00
Plastic Plus Shipping of Above Cargo Box Custom Reflective Vehicle Graphic Kit by Mike Glass with Defender Supply Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass Professional Installation of Graphics by Defender Supply & Mike Glass Window Tint - For Two Front Windows Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies			1	395.00	395.00
Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass Professional Installation of Graphics by Defender Supply & Mike Glass Window Tint - For Two Front Windows Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep Misc. Shop Supplies 1 78.00 7 78.00 16 1 490.00 16 1 499.95 7 1 499.95 49 1 30.00 13	. 마트 - I - I - I - I - I - I - I - I - I -		1	295.00	295.00
Mike Glass Professional Installation of Graphics by Defender Supply & Mike Glass Window Tint - For Two Front Windows Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies	Custom Reflective Vehicle Graphic Kit by Mike Glass with Defender Supply		1	520.00	520.00
Window Tint - For Two Front Windows Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies			1	78.00	78.00
Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies	Professional Installation of Graphics by Defender Supply & Mike Glass		1	160.00	160.00
Module & Blue Sea Battery Management System Designed for Heavy Duty Use Vehicle Dealer Prep 1 130.00 13 Misc. Shop Supplies 1 30.00 3	Window Tint - For Two Front Windows		1	79.95	79.95
Misc. Shop Supplies 1 30.00 3	Module & Blue Sea Battery Management System Designed for Heavy Duty		1	499.95	499.95
	Vehicle Dealer Prep		1	130.00	130.00
Shipping of Above Emergency Parts for Upfit	Misc. Shop Supplies		1	30.00	30.00
100.00	Shipping of Above Emergency Parts for Upfit		1	150.00	150.00





Date	10/18/2021
Estimate #	
	George Severe
Estimate	george@defendersupply.c
БУ	903-771-0845

Bill To	A STATE OF THE
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

Description	Location	Qty	Price	Total
Installation of Above Emergency Equipment & Customer Supplied: Panasonic Video System Police Radio - Motorola APX7500 1-Piece Police Radio Speaker Police Radio Roof Antenna Radio Wiring Harness Cradle Point Wiring Harness Cradle Point Antenna (Mounted in the Front on the Side of Console). Customer to Pick Up Vehicles	Location	40	110,00	Total 4,400.00
Make & Model of Customer Supplied Police Radio - Motorola APX7500 Is Customer Supplied Police Radio a One or Two Piece Unit - One - Hot all the Time What is the Frequency of Customer Supplied Police Radio - 800MHz Make & Model of Customer Supplied Laptop - Panasonic Toughbook CF33 Does the of Customer Supplied Laptop have Docking Capabilities - Yes Is the of Customer Supplied Laptop a No RF, Single RF or Dual RF - Dual RF Does the of Customer Supplied Laptop have a built-in power supply - No				

Vehicle & Emergency Equipment Total

Signature Bill Gravell (Nov 9, 2021 15:00 CST)



Date	10/18/2021
Estimate #	
	George Severe
Estimate By	george@defendersupply.c
Бу	903-771-0845

Bill To	Harby Store
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

Description	Location	Qty	Price	Total
ast year the tech installed two antennas on the roof & the vehicle only needs one, a 800Mhz				
Note - Roof Antenna Placement:				
800 MhZ Antenna – Roof mounted between B-C pillars Bluetooth Antenna roof mounted on pass, side between A-B pillars Multi Purpose GPS Cradlepoint Antenna Roof mounted between B-C pillars				
Fech Please Pre-Wire to Console for Radio Power, Ground & Roof Antenna				
Note - Cradle Point Mounting Placement:				
On Units that have a prisoner partition, the Cradle Point will be Mounted on the Prisoner Partition right behind the Front Passenger Seat.				
On Units that do not have a prisoner partition, on the Cradle Point run cabling & roof antenna leads under the Front Passenger Seat leaving 3 to 4 eet of service lead in the wires please.				
CAT 6 Cables go in these locations: Blue Cable - CP to Dock White Cable- VPU (PC PORT) to Dock				

Vehicle & Emergency Equipment Total

\$62,000.00

Signature Bill Gravell (Nov 9, 2021 15:00 CST)

Reg 127447



Date	10/18/2021
Estimate #	
-	George Severe
Estimate	george@defendersupply.c
Ву	903-771-0845

Bill To	
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

2022 Chevrolet Tahoe 9C1	Vehicle Color - Blue				
Des	cription	Location	Qty	Price	Total
Type Locking Differential, Dual Batt High-output Alternator, 20-inch Stee 16-inch rotors, Keyless Entry & Pus Connectivity, Additional Key FOBs	Heavy Duty Cooler, Heavy Duty Clutch eries with 760-amp Auxiliary Battery, el Wheels, Brembo Front Calipers with h-to-Start Ignition, OnStar with Bluetooth & Radio Suppression. (No Spotlight)		1	33,737.00	33,737.00
Customer PO # (1) Su	pervisor Unit @ \$57,050.00				
Payment to be made to Holiday Che Series XS135PUR	evrolet on Texas Contract # 070-A1				
Vin #'s GM Order # ZZDGX7					
Vehicle titles should be in the name Williamson County Attn: Auditors Office 710 S. Main St., Suite 301 Georgetown, Texas 78626	& address of:				
Williamson Co TX PCT. 4 Constable	e - WO# - Work Order				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total

Signature Bill Gravell (Nov 9, 2021 15:00 CST)



Date	10/18/2021	
Estimate #		
	George Severe	
Estimate	george@defendersupply.c	
Ву	903-771-0845	

Bill To	
Williamson Co TX PCT. 4 Constable	
412 Vance Street - Suite 3	
Taylor, Texas 76574	

Customer Contact	Brian Olson
Customer Phone	512-352-4181
Customer E-mail	bolson@wilco.org

Selection of the second selection of the		Customer E-man		DOISOIT@WIIC	o.org
2022 Chevrolet Tahoe 9C1	Vehicle Color - Blue				
Des	scription	Location	Qty	Price	Total
2 Year Texas State Inspection Cert	tificate		1	7.00	7.0
Emergency Equipment is Purchase Tarrant County Cooperative Contra	ed Through Defender Supply using The act # 2019-181				
Havis Docking Station with Dual Pa Panasonic Toughbook 33, 2-in-1 La DS-PAN-1112-2	ass-Through Antenna connection for aptop with Power Supply #		1	1,099.00	1,099.0
Defender Supply Computer Mount;	Console. Includes Installation.		1	345.00	345.0
Federal Signal 3' Round 6 LED Co Switchable between Red or White (2) on Rear Tailgate with 3-Way Sv	- (1) Mounted in Cabin Ceiling Mount &		3	45.00	135.0
Defender Supply Two-Way (800) R ncludes Installation. Roof Mount	Radio Antenna and Coaxial Cable.		1	155.00	155.0
V-shape" Off-Axis Lighting, Solaris	nology, Reduced Wind Noise, FSJoin		1	3,400.00	3,400.0
	d 53" Light Bar- 2021 Tahoe, Silverado		1	0.00	0.0
ederal Signal Siren/Light Controlle	er with 17-Button Controller, 100/200 W, ntegrated Rumbler Capability &Integrated		1	0.00	0.0
Federal Signal DynaMax 100W Spo	eaker		1	0.00	0.0
Federal Signal ES100 Speaker Bra			1	0.00	0.0
ederal Signal - 25 foot OBDII Inter ederal Signal 24 Channel Expans Controller	rface Cable ion Module for Pathfinder Siren/Light		1	0.00	0.0
ederal Signal Pair of Rumbler® Lo Delivering up to 10 dB more Sound			1	325.00	325.0
Federal Signal Rumbler Brackets, 2	2021 Tahoe		1	0.00	0.0





Date	10/18/2021	
Estimate #		
	George Severe	THE STATE OF
Estimate	george@defendersupply.c	THE PARTY
Ву	903-771-0845	

Bill To	
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson
Customer Phone	512-352-4181
Customer E-mail	bolson@wilco.org

2022 Chevrolet Tahoe 9C1 Vehicle Color - Blue				
Description	Location	Qty	Price	Total
Federal Signal Push Bumper, 2021 Tahoe Federal Signal - PBX Series Push Bumper Four-Light top-channel for Chevy Fahoe 9C1 & Ford F-150 bumpers, use with MPS600U or MPS620U lights		1	391.63 24.00	391.6 24.0
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White Mounted in Front Bumper Tube - Whites to do Take Downs When Activated - Red/Blue/Red/Blue		2	82.50	165.0
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted in Front Bumper Tube - Whites to do Take Downs When Activated - Red/Blue/Red/Blue		2	82.50	165.0
Federal Signal Micropulse 620 Ultra - 12 LED Lighthead Dual Color Red/Blue - Mounted on Sides of Push Bumper		2	81.00	162.0
Federal Signal Micropulse 620 Ultra Surface Mount - 18LED Lighthead Tri-Color Red/White/Blue on Front Side Mirrors		4	132.495	529.9
Federal Signal Wedge Kit Pair for MPS lights Mounted Near Running Board Area or for FPIU Lights on Front Side Mirrors on 2021 Chevrolet Tahoe 9C1 or SSV		4	10.83	43.3
Federal Signal XStream Interior Mount Warning Light, Dual Head model with vire lead, Tri-Color-Blue/Red/White - Mounted in Rear Side Glass on Top of vindow – Programmed to do White Alley Lights when Activated		2	167.50	335.0
Federal Signal MicroPulse Ultra 6, Dual-Color Red/Blue, Surface Mount Lights - Mounted under Rear Spoiler		6	80.40	482.4
Federal Signal Rear Spoiler Bracket Kit for MPS600 or MPS600U Lights for he 2021+ Chevrolet Tahoe 9C1 & SSV		1	100.00	100.0
Federal Signal Hideaway Light in Red/White Split - Mounted in Reverse .ights		1	65.00	65.0
Federal Signal Hideaway Light in Blue/White Split - Mounted in Reverse Lights		1	65.00	65.0
Federal Signal Universal Tail Light Flasher		1	59.95	59.9





Date	10/18/2021
Estimate #	
	George Severe
Estimate	george@defendersupply.c
Ву	903-771-0845

Bill To	ALC: NO PERSON NAMED IN
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574	

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

	Customer E man		DOISOTT W WITHOUT	o.org
2022 Chevrolet Tahoe 9C1 Vehicle Color - Blue				
Description	Location	Qty	Price	Total
Federal Signal - 24LED Lighthead Dual Color Red/Blue - Surface Mounted Horizontal right beside Rear License Plate		2	130.00	260.00
Federal Signal Micropulse 620 Ultra - 12 LED Lighthead Dual Color Red/Blue - Mounted on Bottom of Liftgate		2	87.50	175.00
Defender Supply TAHOE Free Standing Mount Dual Weapon Universal Cuff Lock with 8 Second Timer, Switch, Defender Supply Gunlock Wire Harness. Includes Installation.		1	742.50	742.50
Setina T-Rail Universal Lock, EoTech Bracket to Fit Oversize Locks to fit AR-15 optics		1	14.85	14.8
Defender Supply TAHOE Cargo Barrier with Mesh Window. Includes Shipping Installation.		1	540.00	540.00
Defender Supply Rear Seat Dome Light - Includes 2, 3" Round Red/White Dome Lights Mounted Over Rear Driver and Passenger Side Seat with Switches on the C-pillar for the Coresponding Side. Includes Installation.		1	255.00	255.0
Stalker DSR - 'Ka' Band - Front & Rear Antenna Moving Radar Unit with Remote and Vehicle Specific Brackets. Includes Installation.		1	3,140.00	3,140.00
Streamlight Strion SL-DS - 74614		1	130.00	130.00
nstallation of Above Emergency Equipment		1.25	110.00	137.50
Plastic Plus Level 3 Single Drawer Poly Vault with FULL HEIGHT BACK WALL (Fits 2021 Tahoe)		1	1,995.00	1,995.00
Plastic Plus 3rd drawer option with Southco locking latches - # PP-TAH-2021-3 RD-L1-5x36 - Est # 7945		1	395.00	395.00
Plastic Plus Shipping of Above Cargo Box		1	295.00	295.00
Custom Reflective Vehicle Graphic Kit by Mike Glass with Defender Supply Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass		1	520.00 78.00	520.00 78.00
Professional Installation of Graphics by Defender Supply & Mike Glass		1	160.00	160.00
Window Tint - For Two Front Windows		1	79.95	79.9





Date	10/18/2021	
Estimate #		
	George Severe	
Estimate	george@defendersupply.c	
Ву	903-771-0845	1

Bill To	E120E
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3	
Taylor, Texas 76574	

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

Description	Location	Qty	Price	Total
Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use		1	499.95	499.95
Plastix Plus 2021 Chevy Tahoe center console. INCLUDES Arm Rest Pad and (1) aftermarket 12v plug. ***DOES NOT INCLUDE FACEPLATES***		1	815.77	815.77
Plastix Plus Shipping		1	160.00	160.00
Havis Equipment Bracket for Panasonic Arbitrator - ARB-WJ-VR30		1	20.00	20.00
Havis 1-Piece Equipment Mounting Bracket, 4' Mounting Space, Fits Federal Signal Smart Siren SSP3000		1	20.00	20.0
Havis 1-Piece Equipment Mounting Bracket, 2.5' Mounting Space, Fits Motorola XTL2500, XTL5000-05, APX-7500,		1	20.00	20.0
lotto Desk Magnetic Console Mic Clip		2	28.00	56.0
Havis - Console Mount Mic Clip Bracket		2	10.00	20.0
Additional 12-Volt DC Heavy Duty Electrical Power Socket with Moisture Covers - Mounted on Side of Console		3	6.40	19.2
nstallation of Above Plastix Plus Console		3	110.00	330.0
/ehicle Dealer Prep		1	130.00	130.0
Misc. Shop Supplies		1	30.00	30.0
Shipping of Above Emergency Parts for Upfit		1	150.00	150.0
nstallation of Above Emergency Equipment & Customer Supplied:		37	110.00	4,070.0
Panasonic Video System				
Police Radio - Motorola APX7500 1-Piece				
Police Radio Speaker				
Police Radio Roof Antenna				
Radio Wiring Harness				
Cradle Point Wiring Harness				
Cradle Point Antenna (Mounted in the Front on the Side of Console).				

Customer to Pick Up Vehicles





Date	10/18/2021
Estimate #	
PER PER PER	George Severe
Estimate	george@defendersupply.c
Ву	903-771-0845

Bill To			
Williamson Co TX PCT. 4 Constable 412 Vance Street - Suite 3 Taylor, Texas 76574			

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	

2022 Chevrolet Tahoe 9C1 Vehicle Color - Blue							
Description	Location	Qty	Price	Total			
Make & Model of Customer Supplied Police Radio - Motorola APX7500 Is Customer Supplied Police Radio a One or Two Piece Unit - One - Hot all the Time What is the Frequency of Customer Supplied Police Radio - 800MHz Make & Model of Customer Supplied Laptop - Panasonic Toughbook CF33 Does the of Customer Supplied Laptop have Docking Capabilities - Yes Is the of Customer Supplied Laptop a No RF, Single RF or Dual RF - Dual RF Does the of Customer Supplied Laptop have a built-in power supply - No Last year the tech installed two antennas on the roof & the vehicle only needs one, a 800Mhz Note - Roof Antenna Placement: 800 MhZ Antenna - Roof mounted between B-C pillars Bluetooth Antenna roof mounted on pass. side between A-B pillars Multi Purpose GPS Cradlepoint Antenna Roof mounted between B-C pillars							
Tech Please Pre-Wire to Console for Radio Power, Ground & Roof Antenna Note - Cradle Point Mounting Placement:							
On Units that have a prisoner partition, the Cradle Point will be Mounted on the Prisoner Partition right behind the Front Passenger Seat.							
On Units that do not have a prisoner partition, on the Cradle Point run cabling & roof antenna leads under the Front Passenger Seat leaving 3 to 4 feet of service lead in the wires please.							
CAT 6 Cables go in these locations: Blue Cable - CP to Dock White Cable- VPU (PC PORT) to Dock							

Vehicle & Emergency Equipment Total

\$57,050.00

